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Question numbers 1 to 8 carry one mark each. For each question, four

alternative choices have been provided of which only one is correct. You have
to select the correct choice.

C ]_‘J = ) % — [ E}r 1
1999 ... FILFEIAAAE (G p, q IR TG g #0):
q
19 194949 = 1
A — B e £ 2 D -
&) 10 (B) 1000 (© ©®) 9
The value of 1.999.......... in the form E where p. q are integers, q # 0 is
8]
; 19 1599 1
A i B & 2 D ==
T ®) - Tooo © ® 3
Tiﬁi‘ﬂﬁ'ﬁp{x}z—1‘3—x—k+?m‘:[ﬂm{x+?]?ﬁ,fﬁkmm%: 1
(A) —35 () 35 (C) —49 (D) —42
The value of k for which x + 7isa factor of p(x) = —x2—x —k + 7is:
(A) —35 (B) 35 (C) —49 By =42
= X - 1
qfg 4+ L= =1, (x, y = 0), mxi*-};-‘aﬂﬂﬁ%:
L 3
(A) 1 (B -1 &y 0 (1) %
x iy : - :
If =— +==—1,(x, y & 0) thenx® — 1P is:
L ;
(A 1 (B) =1 & @ D) =
If{x}rI2—4x+4ﬂﬂW¥Lﬂlﬁ%: 1
(A) O (B) 1 (C) -1 (D) 2
' One of the zero of the polynomial f(x) = x2—4x+4is:
(A O (B) 1 (C) -1 (D) 2
U F S AT W TS TAE, E 1
(A) 80°  (B) 722 @y W (Dp 88
An angle which is 8 times its complement is :
(A) 80° (B) 7 (O 9@ (D) 88
sl ABC ¥, £C=65° 741 £B=35" T4 £BAC F GHfEHI® BC Ft PR e E, 1
@
(A) AP>BP>CP (B) BP > AP >CP
() AP<BER=CP (D) BP<AP<CP
In a AABC, #C=65° and £B=35" and bisector of £LBAC meets BCin P, then:
(A) AP>BP=>CP : (B) BP > AP>CP

(C) AP<BP=<CP (D) BP<AP<CP
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(A) 0T (B) -37HE
() et Frreit s g (D) 3%%R
The distance of a point (), —3) from the origin is :

(A) . Ounits (B} =3 units
(C) Cannot be determined - (D) 3 units

/ T Td # e well w1 fag A, O 791 B % few® wEe (4, 0), (0, 0) 941 (=3, 0) 1
: ¥ AB®IGHE:

(A)  TEEE (B) 178
© avRd (D) 475

In a plane, on coordinate axes co - ordinates of points A, O and B are (4, 0), (0, 0)
and (=3, 0) respectively. The distance ABis:

(A) 7 units (B) 1 unit

(C)  3units (D) 4 units

wuz-4d/ SECTION-B
U GEAT 9 W 14 W Weleh ok 2 36 & |
Question numbers 9 to 14 carry two marks each.
afZ a=2, b=3 (a®+b") 'l (a"+b") " WA T FHC 2
If a=2, b=3 then find the value of :
@ (O +b)" b  (a*+bY

TEUE A+ 3 =202+ x+ 1 x+1 8 A FE T IR WA ZR WG w0 2
Using remainder theorem find the remainder on dividing x*+x3—-2x2+x+1 b}'_
x+1.

@
B \y/amaﬂf—m;u fof vi—x+1, 98 2=3x 1 VNI | 2
ﬁ/

Check whether 2®—x+1 is a multiple of 2-3x

‘gt € T e T 7wt 9 9% e wewl B 8, 5| e 3 2

ayepfa e T |

“Lines are parallel if they do not intersect”, prove the above with suitable

diagram.

e 2 o & il 1_}'0 a~;'_ L 2

| UF T W A ae, o A 2 € Al 2 = : z F HH AF

T |

. = 3] a o @ 'Tn + y-:-
The degree measure of three angles of a triangle are X7 y*, 2" fz" = =

then find the value of =
a1eEr/ OR
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Two supplementary angles are in the ratio 2 : 3, Find the angles.

TR TF 5 U T9EE e s w5 9 60 om ¥, 1 SR A0 R |

Using Heron's formula, find the area of an equilateral triangle whose perimeter

15 G0 cm.

w|ug-H/ SECTION-C
WY HEAr 15 W 24 § Uk & 3 3§
Question numbers 15 to 24 ¢arry three marks each.

4B . 8B, . 4
V2+B JorB o B2

T =ifE .

J6 342 4.3
Sl B T e B "+

;gar/ OR

1
WA R () ”th_ 11;}2

- Simplify : Jx ff': *u'l” = 1.|| {xy) T

16.

Th.

e W e e

Sl al—pt aZ — b2

a ! a —(21}: )

Trove that : + = -z

al+b™!  a7l-b? a? 1P

. 3+
Rrsr R

GEI Yy = ?
SlELS

fr=———and vy =
J3 =42 & w‘r§+

5
5
V3 + 2 B -2
7
31eraT/ OR
T HISC . 7a2+ 8y — (dx +3y) . (1632 — 122y +917)
Simplify : 723+ 813 — (4x +3y) . (16x2—12xy +912)

X

3
gie x =1 - J'Z_Jaﬁ [.1'—- 1] = HE Ad FIaT |

- find the value of x2 + 2 + xyif J_ 2.4

ﬁ[rﬂ+]f2+xyﬁqﬁﬁmzﬁﬁm (u’a=2.4]
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23
It ol — 7, find the vaiue of {x - lJ
X

ZXY7Z = 64° AT XY 1 g P 79 =ern T v H U spta aey | wh e v,
£7YP F wufeafas = @ £ XYQ aur wiyEd! £QYP W AH T Hi9g |

It is given that £XYZ = 64° and XY is produced to a point P’ Draw a figure from
the given information. If ray ¥YQ bisects £ZYP, find ZXYQ and reflex ~QYP

#H=Er/ OR
g SEf 3 1| || 1 R TE ST B SR (x+y) : (y —x) A

v
A B :

100° 4
i I:‘I
) C\ctd”//ﬁ N
o H o
30°NA20 -

i F
In the gwen figure :I||m|[n T’rom the figure find the ratio of (x +y) : {y =)

-

0 47’

\hcry
w GEEqdE ABCD ¥, ‘O’ 39 ¥ ot O g & @ oA=0C! g wiT
D, O, B ®@g ¥

In a thombus ABCD, ‘0 is an interior point and OA=0C. Prove D, O, [} are
collinear.

\EQ

& 7% @i ¥ BALCA TAIRPL QP, AB=TQ A BR=CQ | fog wifse AC =PR,
s,_
ol

In the given figure BALCA, RPL QP, AB=PQ and BR=CQ. Prove that
AC =PR.
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'5Q+5R < PQ+ PR,

I’

-~

Q

In the given figure, POR is a triangle and S is any point in its interior. Show that

SQ+SR < PQ +PR.

¥}

Q R

9 W sgEfa 0 AB AW CD @ v S fag o W oyl w3l
éCOE=9U“Hﬁx‘,}fﬂmz“Eﬁlﬂﬁ‘ﬁ]ﬁﬁﬁﬂ{l

-

In the given figure, AD and CD are two straight lines, intersecting each other at
‘0. If ZCOE = 90°. Find the values of x°, i* and z°.
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A9 79 Fe 1 9T 100 cm &1 (/5 = 2.23TIE)

equal side and its perimeter is 100 em. (Take J5 =223)
@vs-g/ SECTION-D
YR WEAT 25 F 34 § U % 4 39 2

Question numbers 25 to 34 carry four marks each.

\_}9/ 01 T T s T W a1, x—1 e A S Es R (Rl CIRC FAL

Find the area of an isosceles triangle whose one side is 10 cm greater than its

J105 =1 €& @1 W gviEy | 4
%
Represent J105 on the number line.
sq9Er/ OR
o ~ 1 1 1
T El: L + oo PR i
Lo 1+42  V2+3 8+ 9
1 1 ]
. Simplify - -+ S +—_—_—
ST D R B+
-_ j/ afza=9+445 3, @ Ja - }_ 21 T T R |
5 i
; 1
fa =9 + 4.5, find the value of a — -
A d
27 HE WL : (a+b)p + (a—bp + ba(a?—b?) 4
Simplify (a+b)* + (a—b)? + bafa? —b?)
¢ j/ A GEAT 3+ 202 — Sax—7 T 3 +axt—12x +6 F FL: (x+1) T4 (x—2) | 4
: : Pl T 1 A a1 B30 ST & T 24 + B=6 8, T ‘2’ FHA W HAAC
If A and B be the remainders when the polynomials yi+2x2—5ax—7 and
+axi—12x+6 are divided by (r+1) and (x—2) respectively and 2A+B=6,
find the value of ‘a". '
4
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What must be subtracted from x*+1 so that x*+1 is exactly divisible by x—1.
Write the resultant polynomial which is exactly divisible by x—1.

?./ 417 el A, B, C, D, E a4 F fagatl F Fwis fafay qur a2 of =axd f& =m 3 4
formg (i) x- 2@ (i) y-2181 H TR 20 Hidtes 8 |

Wa
B e
D--d4--nB
S
' 2t " -Ia"'-
' i
St :
i

In the given figure, find the co - ordinates of the points A, B, C, D, E and F.

Which of the points are mirror images in
(i) x - axis (ii) iy - axis
Wy

5
Dr--41----B

)

[
-
s

IH

j{ 1 T sl H AB|CD 81 3§ ZBAE=50° 741 LAEC=20°, # #DCE %1 5 W 4

Hifaw |
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C

5{]* -"|.

A0
L Iz

7 WqET PORS  faF PR a9 QS WER ‘O W WS W €1 g witaT

PQ+QR+RS+SP > PR+QS.
Diagonals PR and QS of a quadrilateral PQRS intersect each other at ‘O’. Prove

that PQ+ QR + RS+SP > PR+ QS.

AYET/ OR
& st i AB T YEETs 1 AB ¥ fas fawn § & firg PAAT Q T ARR R,
iy &7 W g A 94 B T o W # | fag wifeg e PQ TeraTs AB T

S €
P
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33,

34.

In the given figure, AB is a line segment. P, Q are points on opposite sides of AD
such that each of them is equidistant from points A and B, Show that the line PQ
is the perpendicular bisector of AB. ;

fig Ffa fF wah g 1 <1 syomedl &1 v Al e @ 9§ 4

Show that the difference of any two sides of a triangle is less than the third side.

fag Fifem fF fys & =m0 =1 3 180° 21 F1 4

Prove that the sum of angles of a triangle is 180°

-00o0-
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